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1 cfof]hgfsf] ljj/)f 

cfof]hgfsf] gfd M ^f]n j:tL 

j*f g+= pkef]Stf ;ldltsf cWoIf M 

3 xfn ;DDsf] vr{ ? 

s= :yfgLo txaf^ k|fKt /sd M 

1 lgdf{)f ;fdfu|Ldf -l;d]G^, %*,sf&,('+uf jf  lu^L, pks/)f cflb _ ?= 

2 Hofnf M        bIf ?=                    cbIf ?=          hDdf ? M 

3 d;nGb ;fdfg -slk,snd,d;L sfuh cflb _ ?.

4 b}lgs e|d)f eQf -;Demf}tfdf :jLs[t eP _ ?=

5 k|fljlws lg/LIf)f jfkt vr{ -;Demf}tfdf :jLs[t eP _ ?=
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v=  hg;xeflutfaf^ Joxf]l/Psf] vr{ ?=

>dsf] d"No j/fj/sf] /sd ?=

lhG;L ;fdfg j/fjf/sf] /sd ?=

s'n hDdf ? M 

4 k|fljlws k|ltj]bg adf]lhd d"Nof+sg /sd ? 

5 pkef]Stf ;d"xsf] lg)f{o jdf]lhd ÷ ;ldlIffaf^ vr{ b]lvPsf] ? 

6 sfof{Gjogdf b]lvPsf] d'Vof ;d:ofx? 

s= 

v= 

7 ;dfwfgsf pkfox? 

s=

v=

8 :yfgLo tx / cGo lgsfoaf^ cg'udg eP cg'udgsf] ;'emfj M 

9 xfn dfu u/]sf] ls:tf /sd ? 

10 d'Vo vr{ k|of]hg 

11  k|fKt /sd cfof]hgf afx]s cGo sfo{df vr{ ug]{ u/fpg] %}gf} . 
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